RD Sharma
Solutions
Class 12 Maths
Chapter 19
Ex19.2



Indefinite Integrals Ex 19.2 Q1

][3xﬁ§+4~.&_’+5) ax

= IB,Y-JIEG.X+I41'I?G'X+15:'.X
3 1
[ 3x 2o + 4] 2cx + 5] dx

m| o I w
taln

Indefinite Integrals Ex 19.2 Q2

= 1

[ 2’f+———1 o
x 3

1 1
=]2xdx+5];dx—]—1dx

X

2

x -_—
_ 2 +5I|:|gx—§x3+r:

log2 2

Indefinite Integrals Ex 19.2 Q3
j[ﬁ(axz + by +c)] s

= I\Exaxzdx + j@xbxdx+ jc@a‘x
5 3 1

= [aw 2y + [ by Zdy + [oxw 2y
el By =g 2
5 3 1
—+1 —+1 —+1
ax < b2 o 2
= + + +d
g 3
+1

—+1 —+1 l
2 2 2
3
2hyZ 2ox

+ +

5 3

raloa

¥
s
+d

2
=

Indefinite Integrals Ex 19.2 Q4
[12-3x)(3+2x)(1-2x) ax
=][Eu+4x— A — sz)[l—zx)dx
= ]{—sz - Ex + Eu) (1- 2x)dx
= ]{—sz +12x3 - Gx +10x% + 6 - 12x)dx
= ]{4x2 +12x% - 17x + En)dx
= ]{12){3 + - 17 + Eu)dx

=Ex4+ixg—gxz+ﬁx+c

4 3

Indefinite Integrals Ex 19.2 Q5



X v m
[| —+ —+m" +x™ +mw dx
X oom

=m| Lo+ ij oy + [ e [ % Tdx + | wdy
X m

2 mx Xm+1 ."'."'.‘Xz

-mln:ng|x|+—+ + + +C
2m logm m+1 2

Indefinite Integrals Ex 19.2 Q6

-
L

r !
— 1
WX — dl

. X

= .E/.r+l—’_’Ju’.r
L .

= [m‘fr + Jl dx—2 jl dx
. x

X .
=—+log _1'| -2x+C
p

Indefinite Integrals Ex 19.2 Q7

3
I(1+X) "

Jx

] 2
=I1+,>( + 3 +3XG"X
B

1 3x
[—=dx +|—=dy +|—=dx +[—=
T e i
2y 5 1
[3 2elx + [ % 2dv + 3] 2x + 3] x 2y

ot

Il
Mw

\—

—_
| =1

1 g 2 3
= 2X2+?X2 +EX2 +2%2 4o

3 1 7 5 3
1+x ]
Iudx = 2x%2 ¢ ?Xz +-g 2 42x%2 4

Nt

Indefinite Integrals Ex 19.2 Q8



I{Xz +elt1 4 (g]x }cfx

x
=[x % +[&'°% g + ] (EJ o

= 3+jxdx+j[§]ﬁx

3 wE 1
Dy
2

w|*

w| %

)
— —%|=| +c
log [e_] 2

2
Indefinite Integrals Ex 19.2 Q9

][xe +e* +ee}dx

[x%dx +[e¥dy +[e%dx

XE+1

e+1

+e’ +e%x +cC

e+1
+e8" +e® x4+

j{xe +e” +e‘")rjx gl

Indefinite Integrals Ex 19.2 Q10

;-(§+1 XE+1
== -2 I +c
—+1 —+1
2 2
s
w2t Dl
= —- +c
2 =k
2
£ -1
B i i
= ax2-4x2 +C

Indefinite Integrals Ex 19.2 Q11

[+ e is constant]



Foe2p

- J%* Jixx]d’(

[x 2 +[x Zax
1 '
2xI_2xZ 4z

2
2 - =+

T~

]%{1+%}dx= 2@—%+c

Indefinite Integrals Ex 19.2 Q12

&

1
I,»r2+ »
xe+1

{XZ)S + [1]3
TS

- {x2+1}{x4+1—x2)dX

x% 41
=[{x4—x2+1)dx

=[x % - [x %y + ] 1dx

XS jc

X
=—-—+x+C
L 3

Indefinite Integrals Ex 19.2 Q13

-1

X?+-.|T+2
[ "
R
-1 1
X3y xZ 2
=]—1 +j_.:|'1 x+I—a‘1x
%3 x3 %3

-z 1 -1
[ Ty + [ x Bl + 2] x Sy

It
0
=
[4h)
+
~i|
=
[aa}
+

Indefinite Integrals Ex 19.2 Q14



I{1+«.|5?}2 .
N

=I1+x+12~.|5? »
wE
1 !
=[x +[xZdx + 2] ax
3
=2«f§+§x§+2x+c

{1+\|"_) 3

—G'X S + 2w +§X2 + &

Indefinite Integrals Ex 19.2 Q15

[ (3- 5x v

]
SR
E3
=

|
fal

x
T

|

|
n
+
]

Indefinite Integrals Ex 19.2 Q16

[# +1)[x - 2) »

I

2 1 =
=j_a'X1 w - [w2ddy - 2[x 2y

WE
s 3
Z z 1
=2L—2L—4X2+C
5 3
5 3 1
K 4+1lw -2 = = =
J’li jl{_@'jx=gxz—§x2—4xz+c
e L 3
< 3
2 3 2xF
==X oA+
5 3

Indefinite Integrals Ex 19.2 Q17



[ ——————
2

_ x% x?% 2

e

=[x + [ 57+ 25
kb xmF oyt

=+ —+ +C
4 -3 -
x* X 2

=—-———+C
4 3

Indefinite Integrals Ex 19.2 Q18

[13x + 4)20';(

= ]{9;{2 +16 + 24x)dx

= 9 x %y + 16]dx + 24 sy
3 z

= EIX—+1E|X+24X—+C
3 2

e

=3x% +1ex+12%%+0C

[(3x+4j2 =axd+12x? 4 16x + ¢

Indefinite Integrals Ex 19.2 Q19

ot 4+ Tx ¥ 1 Ex2

= A
XS+ 2y

X {2;{3 + T2+ Ew)
v

=

X[{x+2)

oxF + Txe +BC
=I—G'X
X+ 2
Ox% + 4x® 2w e + B
= a
[ +2)

Exz(x+2j+3x(x +2]
=) [+ 2] o

(% +2) {2;(2 + 3;()0'){
X+ 2
= [{Exz +3X)‘i5(

[2x2dx + [ 3xdy

2 K]
R =
3 2

Indefinite Integrals Ex 19.2 Q20



4 3 2
sx o+ 12x +7x

2
I o+ x

4 3 3 2
5x +7Fx +5x +7x

2
X +x

5x3 + sz + sz +7X

= %
x+1
2
Sx x4l + Txix+l)
= dx
x+ 1
=]l 5x° +7x Wdx

I
|
it
|
+
2

Indefinite Integrals Ex 19.2 Q21

s5in® x

[ ————
1+ cosxy
2
1-cossw »
1+ cosx
=l|:1—|:|:|5xj|:1+|:|:|5xj "
(1+cosx)
= [{1- cosx)dx

=X —-Sinx +C

Indefinite Integrals Ex 19.2 Q22

I{Seczx + os eczx)dx

[sec? xdv + | cosecivdy
tanx —cotx +c

]{SECZX + cuzeczx)dx = tanx - cotx +0C

Indefinite Integrals Ex 19.2 Q23

Evaluate the integral as follows
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We have,
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\We have,
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We have,
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